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Lesson 3: Sketching transformations of the graphs of y = sinx y = cosx

Recall that:

a: represents the vertical stretch or compression (affects the amplitude). If a is negative,
the graph is also reflected over the x —axis.

b: represents the horizontal stretch or compression (affects the period). If b is negative,
the graph is also reflected over the y —axis.

C orh:represents the horizontal shift (affects the “starting point”).

d or k:represents the vertical shift (affects the median).
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Work on p.534- 3-5, 8-11, MC 182
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